4 3 - 2 1

CLOPAY / IDEAL / HOLMES SHEET: REVISIONS
717 /7 C7X17 / -- 7 27GA 1. 75" THICK MINOR RIB { OF 4 [3 :

EV. NO.| ZONE. | DATE: | ECN NO.| APPVD: DESCRIPTION
3718 7 C7X18 / -- 7 27GA 1. 75" THICK FLUSH
3720 /7 C7X20 / 240U 7 27GA 2° THICK MINOR RIB o1 = _ddepaling o LN s L
3722 7 COXe2 / -- 7 20GA 2 THICK FLUSH
3?24 .-"f C?}{E4 f 844U .r'" 246#5 E' THICK HINDR RIB DpﬂONAL GLP-E|NG MAY BE STF-NDARD EDSB OR

BETTER) OR IMPACT RESISTANT GLAZING. MAXIMUM
GLAZING SIZE (DLO) IS 22"x9—7/8". SEE SECTION
BE-B ON SHEET 2 FOR DETAILS.

GLAZING MAY BE INSTALLED IN TOP SECTION (NOT
SHOWN) OR INTERMEDIATE SECTION [SHOWN).

(1) 20 GA. GALV. STEEL BACKER PLATE AT
EACH INTERMEDIATE HINGE LOCATION,

BACKER PLATE ATTACHED WITH DOUBLE SIDED
ACRYLIC ADHESIVE TO BACK OF DOOR.

16 GA. DOUBLE END STILE

| —3" 20 GAGE U—BARS. BARS ARRANGED
- IN A 1-0—1—-0 PATTERN OVER THE
= HINGES ON EVERY SECTION AS SHOWN.
EC — o
i & 1| # & —F— VIEW 8"
55 id c & ¢ d & ———VIEW "C"
[T
T g (1) 4" T-STRUT PER SECTION. FOR
5 [ SECTIONS WHERE U—-BARS ARE NOT
=23 ! USED, T—STRUT MAY BE MIDDLE OR
= TOP OF SECTION. FOR SECTIONS WITH
2% U—BARS, T-STRUT TO BE AT BOTTOM
e ! OF SECTIOM AS SHOWN.
LOCK POSITION (BOTH SIDES).
U—BAR.
—} ' \\T—STRUT. ‘—
[ S N_ (2) LHR TOP BRACKETS USED AS INNER
. MAX. DOOR WIDTH = 18'-2" BOTTOM BRACKET.
#14x5/8" SHEET METAL SCREWS INSIOE ELEVATIONS
e |MUMBER OF — #14x5/8" SHEET METAL SCREWS
DOOR HEIGHT A 'R o
UP TO &-0" 4
8°-3* THRU 10°-0° 5
10°-3° THRU 12-0° 6
12°-3" THRU 14°-0° 7
143" THRU 16°-0° B 1/4"x3/4" SELF
16°-3° THRU 18°-0" 9 TAPPING SCREWS.
14 GA, EMD HINGES 14 GA (MIN.Y INTERMEDIATE HINGE
VIEwW "B" VIEW "C"
SNAP LATCH ENGAGES N

ONTO VERTICAL TRACK.

STILE
ONE SNAP LATCH ON MANUFACTURING PRODUCT CODE
/., EACH SIDE OF DOOR.
" SLIDE BOLT LOCK C-DSIU-1D477
e ENGAGES INTO
R END DESIGN LOADS: +36.0 P.SF. & —40.0 P.SF. :
A STILE. o Tara OUTSIDE —_ | | TEST LOADS: +54.0 P.SF. & ~60.0 P.S.E. PART NO.: N/A
L4 _: 1 EACH SIDE OF HANDLE. 7 LOCK BAR Unless Staled Otherwise - 8585 Duke Boulevord WINDLOAD RATING
A Cr e Ehial. Ol:{TES\;EE END - ENGAGES IN | TOLERANCES ore |\l ﬂlnpay Moo, 4800 W& DPRET
f / /{:/ i aie . STILE. EESEKS%’E 0 = +.031 |Buldng Products Compory  Fox No. 513-770-4853
'a;i} , gihie ::’ Pt ' OF DOOR 00 = +£.015 DESCRIPTION: 1-3/4" INTELLICORE DOORS UP TO 18'2"W (SEE TABLE)
T T INSIDE_SLIDE_BOLT INSIDE HANDLE ' G o 100  SH . 1/10/13 [SCALE: NTS
DESIGN: ENGINEERL & = LOCK_OPTION, QUTSIDE_KEYED LOCK WITH QUTSIDE_KEYED LOCK WITH 0000 = +001 [OTARR BL S B - Sze
& SENGINEER..= . S IR o LOCK_BAR LOCKING. Digraes:w: 21/2° [CHECKED BY:: SH DATE: 1/10/13 |SHEET 1 OF 4 |SIZE
MARK WES FELD! PE. - - Unless Staled Otherwise VER: TDI
FLORIDA P.E. F%B495:'NC P.E. #23832 TEXAS P.E. #91513 e o8 e vore WG 1S T8 ael v D '

4 | 3 > 2 1



4 3 &

CLOPAY / IDEAL / HOLMES SHEET: REVISIONS

3717 S CTXIZ 7 = / 27GA 1. 75" THICK MINOR RIB 2 OF 4 . 2

3718 /7 C7X18 / -- / 2764 1. 75" THICK FLUSH REM: BO. 2] PATEs LECI HOERND: PESERE O
3720 7/ C7X20 + 240U / 27GA 2* THICK MINOR RIB I = = — akE PN SR AT
3722 s/ coxe2 /1 -- / 20GA 2° THICK FLUSH

3724 /7 C7%P4 / 244U / 24GA 2° THICK MINOR RIB

IMPART—RESISTANT CONSTRUCTION:

SOLID [NORS (NO GLAZING) OR DOORS WITH OPTIONAL IMPACT—RE ANT GLAZING ARE
IMPACT—FYISTANT. OPTIONAL IMPACT RESISTANT ASSEMBLY CONSISEF OF ALUMINUM
FRONT FRAME AND SABIC IP LEXAN 9034 (VERSIONS ALSO APPR#WED: MR10, 9030,
90318, 9037 90317, 90311, 90314, 90355) OR BAYER MAMPULON GP (VERSIONS
ALSO APPROVESESL, AR, 15), APPROVED CC1 PLASTICS IN M CORDANCE WITH IBC/FBC
2606 AND APPROSED C1 PLASTICS IN ACCORDAMCE WITH JFC 2612,

THE ENTIRE DOORESEMBLY INSTALLED IN COMPLIANC H THIS SECTION MEETS THE

STANDARD ASSEMBLY CONSTRUCTION:

CPTIONAL DSB OR TEMPERED INSULATED GLAZING AVAILABLE.

THE ENTIRE DOOR ASSEMBLY INSTALLED IN COMPLIANCE WITH THIS SECTION MEETS THE
WIND LOAD REQUIREMENTS OF THE FLORIDA BUILDING CODE OR INTERMNATIOMAL BUILDING
CODE BUT DOES MOT MEET THE IMPACT RESISTANT REQUIREMENT FOR WINDBORNE DEBRIS

REGIONS (REF. CHAPTER 18 FBC/IBC).

WIND LOAD REQUIRENMGNTS OF THE FLORIDA BUILDING 4ODE AND INTERMATIONAL BUILDING
CODE AND IS LARGE- D SMALL—MISSILE IMPACT GlFSISTANT.

SECTION B—My (IMPACT—RISTANT GLAZING OQOPTION)

INSULATED DOOR SECTWE

.

(10) #8—18 x 12"

EXTERIOR OF DOOR b SELF—TAPPING SCREWS.
.
g o m—
' e 2
E N INTERIOR OF DOOR.

3

Tﬂﬂﬂﬂﬂllﬁﬁﬁﬁﬁﬂﬂ

\ RETAINER.

(12) #8-18 = 1,/2" MINUM FRAME.

SELF-TAPPING SCREWS.
1/4" THICK POLYCARBOMATE

GLAZING.

SECTION B—B (NON—IMPACT—RESISTANT GLAZING OPTION)

PANEL ——-| r——
THICKMNESS

PAN HEAD
SCREW
——————()
INSULATED GLASS
THICKNESS
—
OUTSIDE —
FRAME
FRAME

IMPACT—RESISTANT ASSEMBLY DENWLS |
DRAWING 104826-A

e

STANDARD ASSEMBLY DETAILS
DRAWING 104826-B

DESIGMN LOADS: +36.0 PSF. & —40.0 P5SF,
TEST LOADS: +54.0 P.S.F. & —-60.0 P.S.F.

MANUFACTURING PRODUCT CODE

C=-DSIU-1D4 /77

PART NO.: N/A

] .
“‘\\\\\\\*

DESIGN ENGINEERY | <<
MARK WESTERFIELD, P.E.

Unless Stated Otherwise | N 8585 Duke Boulevard WINDLOAD RATING
TOLERANCES = |wm BlOpay Yoo § 4805, We DP2ET
0= +.031 Building Producls Company Fox Mo, 513-770-4853
00 = +.015 |DESCRIPTION: 1-3/4" INTELLICORE DOORS UP TO 1B'2"W (SEE TABLE)
{Jggg : igg? DRAWN BY: SH DATE: 1/10/13 | SCALE: NTS DWG.
Degrees = +1/2° [CcHECKED BY: SH DATE: 1/10/13 |SHEET 2 OF 4 [SIZE
DRSNS AR I neHES. [DWG. NO.. 104826 — A/B VER: TOI

FLORIDA P.E. #48495 NC P.E. #23832 TEXAS P.E. #91513

£ =



4 3 <L 2 1

37ee / COX22
3724 S CTXe4

20GA 2° THICK FLUSH
24GA 2° THICK MINDR RIB "
— [—1—3;’4 THICK MIN.

g;uim / IDEAL / HOLMES SHEET: REVISIONS
1 ;S C7X1T 7 - S 2764 1. 75° THICK MINOR RIE 3 OF 4 :
3718 7 C7XIB 7 5764 1.75¢ THICK FLUSH REV, NO.| ZONE: | DATE: ECN NO.| APPVD: DESCRIPTION
3720 A C7%20 7 01 - - - - SEE REVISION HISTORY OM SHEET OMNE,
/
s

s

240U / 2706A 2" THICK MINOR RIE
= s
iy

244U

27 GA. (016" MIN.) EXTERIOR STEEL

HORIZONTAL (TOP) JAMB JAMB TO SUPPORTING STRUCTURE ATTACHMENT
(NO LOAD FROM DOOR) [ NOTES: SKIN WITH G-40 MIN, GALV., BAKED-0ON
Ay NOTES: POLYESTER PAINTED TOP COAT APPLIED
# i 1. ALL THE LOAD FROM THE DOOR IS TRANSFERRED TO THE TRACK AND THEN FROM THE TRACK TO TO BOTH SIDES OF STEEL SKIN
b (€ ¥ THE 2x6 VERTICAL SYP (GRADE #2 OR BETTER) JAMBS. NO LOAD FROM THE DOOR IS '
TRANSFERRED TO THE HORIZONTAL (TOP) JAMB.
2. EACH VERTICAL JAMB SEES A MAXIMUM DESIGN LOAD OF +324 LB & =360 LB. PER LINEAR
o— FOOT OF JAMB,
3. ALL JAMB FASTENERS MAY BE (BUT ARE NOT REQUIRED TO BE)} COUNTERSUMK TO PROVIDE A
]{:}ETENEH FLUSH MOUNTING SURFACE. ' 12 GA. GALV. STEEL TOP ROLLER BRACKET. EACH
y E 4, A 1/3 STRESS INCREASE FOR WIND LOAD WAS NOT USED IN THE CALCULATION OF ALLOWABLE BRACKET ATTACHED W/(5) #14x5/8" SHEET METAL
LOADS FOR ANCHORS AND FASTENERS FOR STEEL, CONCRETE AND MASONRY. SCREWS. ADJUSTABLE SLIDE ATTACHED TO TOP
1 BRACKET WITH (2) 1/4"x1,/2" BOLTS AND NUTS PER
MAX. 0.C MOTE: 2x6 WOOD JAMBS ARE NOT REQUIRED =T BRACKET.
0. : 2x Ul WITH CONTINUOUS AMGLE MOUNT TRACK, HOWEVER, — "
I DESIRED OMN STEEL JAMBS OR CONCRETE OR BLOCK WALLS, APPROVED FASTENERS AS F—4" | SECTIONS ARE 1-3/4" THICK (MIN.) PANELS.
DETAILED BELOW SHOULD BE INCREASED IN LENGTH BY 1-1/2" AND INSTALLED DIRECTLY ]_ VIEW "D EXTERIOR 27 GA. MIN. GALV. STEEL INTERIOR 27 GA.
C . THROUGH THE ANGLE AND 2x6 WOOD JAMBS INTO THE STEEL JAMBS OR COMCRETE OR BLOCK 3" TALL TAPER STRUT. MIN. GALV. STEEL. THE STUCCO EMBOSSED STEEL
WALLS. ANCHORS CAM BE (BUT ARE NOT REQUIRED TO BE) COUNTERSUNK TO PROMIDE A FLUSH 4—1/4" 0.062" MIM. GALY. STEEL TEXTURE IS PREPAINTED WITH A BAKED POLYESTER
%6 VERTICAL JAMB MOUNTING SURFACE. CONTINUQUS AMGLE TRACK CAM BE ANCHORED DIRECTLY TQ GROUT L Bb KS| MIN. £ L PAINT. MINOR RIBS ARE PLACED EVERY 4 INCHES
/_ \ REINFORCED BLOCK WALL OR 3,000 PSI MIN. CONCRETE COLUMM OR STEEL JAMBS. : ALONG THE WIDTH OF THE EXTERIOR PAMELS.
y L TOMGUE AND GROOVE JOINTS.
—13 VIEW "E" i
. ¥ A .. 14 GA. GALV. ROLLER HINGE. EACH HINGE FASTENED
_=7a 3" TALL 50 KSI U-BAR 5
1 ?,? ? 20 GA. GALV. STEEL. TO EMD STILES W/{4) #14x5/8" SHEET METAL AND

{2) 1/4"x3/4" SELF TAPPING SCREWS. (SEE VIEW "B™) |

TT———— (1)} 3" x 20GA. STEEL U—BARS AT THE TOP OF
e — EVERY OTHER SECTION. ATTACHED WITH (2)
1/4"x3/4" SELF-TAPPING SCREWS PER HINGE
LOCATION. (SEE VIEW "E™)

OME 4" T—STRUT PER SECTION. (SEE VIEW "07)
EACH T—STRUT ATTACHED AT EACH HINGE LOCATION
WITH (2) 1/4"x3/4" SELF TAPPING SCREWS.

27 GA. (016" MIN.} EXTERIOR STEEL
SKIN WITH G-40 MIN. GALV., BAKED—-ON
[ POLYESTER PAINTED TOP COAT APPLIED
N TO BOTH SIDES OF STEEL SKIN,
r
12 GA. GALV. STEEL BOTTOM BRACKET.
FASTENER ATTACHMENT TO SUPPORTING STRUCTURE SCHEDULES ATTACHED WITH (4) #14x5/8" SHEET METAL SCREWS.
— MAXIMUM ALUMINUM EXTRUSION & VINYL WEATHERSTRIP.
ON-CENTER
DISTANCE  ISTEEL SECTION _A-A (SIDE VIEW)
W W,
BUILDING TYPE FASTEMER TYPE EESTEErf?Rs‘ e?ﬁﬂﬁ?fm
Egéb?erlftggKBI%%k - ;:4: x 11 :;:" MIN. EMBED ULTRACON CONCRETE ANCHOR 5" 1" 0.0
4 LL [1/4" x 1-3/4" MIN. EMBED ULTRACON CONCRETE AMCHOR 8-172" 1" 0.0.
AR o 2000 PSI MIN. CONCRETE | 1/4" x 1" MIN. EMBED ULTRACON CONCRETE ANCHOR 7174 11" 0D, MANUFACTURING PRODUCT CODE
7 F0 .y, [2000 PSI_MIN. CONCRETE _[1/4~ x 1" MIN. EMBED TAPCON CONCRETE ANCHOR B-1/4" 1" D.0. C-DSIU-1D477
- L LT T 2000 PSI_MIN, COMCRETE 3/8" x 1-3/4" MIN. EMBED WEJ~IT ANKR TITE SLEEVE ANCHOR 15=1/2" INCLUDED DESIGN LOADS: +35.0 PS.F. & —40.0 P.S.F.
A S A e ‘,} '-:'000 pFRﬂ.rﬂN{SYPNGR i }iﬁg"x_‘l}—i{f_ﬂw EL;BED WEJ—IT ANKR T|T]£ SLEEVE ANCHOR 24" INCLUDED TEST LOADS: +54.0 P.S.F. & —-60.0 PS.F. PART NO.: N/A
> & il ekl . 55 SGY1/2" x 3" |AG SCREW (ASTM A307, GRADE A) 1-5/8" EMBED INTC STRUCTURE 16-3/4" [1" O.D. Otherwi k I
L 0‘7 /g 7 L [14GA STEEL (000" WIN [1/8°-14 x 1" TTW BUILDEX TEKS SELF-DRILING FASIENER . 0.0, TOLERANCEG e | Glona Hoson, Oh- 49040 Uk el £
o s T T e 2 [120A STEEL (01057 MIN) [1/4™—14 x 1” ITW BUILDEX TEKS SELF—DRILLING FASTENER 12-1/5~ 1" OD. o | WA PAY 5 S50 W6E DPRE6T
™ el oo l1/8” STEEL 1/4"—14 x 17 ITW BUILDEX TEKS SELF-DRILLING FASTENER 14-374" |1 OD. .0 = +.031 |Buldng Producls Compony  Fox Mo 513-770-4853
o B BN * FIRST (BOTTOM) ANCHOR STARTING AT NO MORE THAN HALF OF THE MAXIMUM ON—CENTER DISTANCE. HIGHEST ANCHOR INSTALLED 00 = £.015  IDESCRIPTION:  1-3/4" INTELLICORE DOORS UP TO 18'2"W (SEE TABLE)
, e AT LEAST AS HIGH AS THE DOOR OPENING. 000 = %005 . I - R TN
DESIGN- ENCINEER: .o CLOPAY DOES NOT SUPPLY JAMB ATTACHMENT FASTENERS. 0000 = +.001 [DRAWN BY: SH DATE: 1,/10/13 | SCALE: DWG.
MARK WESEI'ERFIELD % E'?'; MINIMUM DISTANCE BETWEEN CENTER OF AMNCHOR AND EDGE OF CONCRETE BLOCK: 2—1/2", EXCLUDING STUCCO THICKMESS. Degrees = +1/2° CHECKED BY: SH DATE: 1,/10/13 |SHEET 3 OF 4 |SIZE
Fall e = Unl Staled Otherwi:
FLORIDA P.E. #48495 NC P.E. #23832, TEXAS P.E. #81513 DIMENSIONS ARE IN INCHES.| OWG. NO.. 104826 — A/B VER: TOI

4 | g 4 2 :



4 S < 2 1

CLOPaY / IDEAL ~ HOLMES SHEET: REVISIONS
3717 PN 05 & B SR SR S S 276A 1. -.-"5: THICK MINOR RIB 4 OF 4 REV. NO.| ZONE: | DATE: ECN NO. | APPVD: DESCRIPTION
S e W G e L 01 - - - SEE REVISION HISTORY ON SHEET ONE
3720 s C7X20 + 240U 7 27GA 2° THICK MINOR RIB :
37ee S Ccoxge v -- / 206A 2 THICK FLUSH
3724 £ C7Xe4 7 244U S 2464 2° THICK MINOR RIB
2" TRACK CONFIGURATION HORIZONTAL TRACK
DOORS UP TQ 800 LBS. SUPPORT BY DOOR
5t INSTALLER ({TQ SUIT). DOOR
NOTE DOUBLE TRACK DOOR COUNTERBALANMCE SYSTEM HEIGHT | "L" JAMB CONFIGURATION ANGLE MOUNT JAMB COMFIGURATION
HEADROOM, HI-LIFT TRACK, i : : ; Al Lk ® DOORS UP TO BOOD LBS. ]
FOLLOW-THE- ROOF e 6-61 70 Z2x6 SYP JAMB (IF PRESENT;
TRACK, AND VERTICAL LIFT 13 GA GALV. STEEL FLAG BRACKET ATTACHED TO 70" 76 BRACKET MOUNT JAMB CONFIGURATION SEE JAMB NOTES ON SHEET 3).
TRACK ARE AVAILABLE JAME WITH {3} 5_,-"’15 X 1"‘5{& LAG SCREWS 7' —g" g 1" DOOR OVERLAP |:EF|.CH S|DE:| o
OPTIONS. AND TO TRACK WITH (2) 1/4" RIVETS. 8-0"| ag" OPTIONAL STOP MOULDING
Bl SN IOLRATION i = 86| 94~ 2x6 SYP WOOD JAMB. BY INSTALLER (TO SUM). ONE 5/16" x 1-5/8" LAG
o] . 9'-0"[100" REQUIRED FOR BRACKET 16 GA GALV. STEEL DOUBLE—END-STILE . TH E [—
DOES NOT AFFECT THE & AS ROD: SPACING NTE 14" O.C. 9'-6"[106" MOUNT. FASTEMED WITH (1)} #8 X 1/2" WAFER SCREW. | ﬁgiﬂcég"“ié“}ﬂ ]'R,Ecﬂgus
WIND LOAD RATING. £ T 0 smdlal
g }g' g" 113" I | L (LE. 3—1/2", 10", AND EVERY
8 . =b. 41 127). ALSO TWO LAG SCREWS
8 £ GQLH?HE:EIEI'E_S;'?AEEIES' 11=07]124" 2-1/2" X 12 GA GALV. STEEL LOCATED ASOVE VERTICAL -
I o TR 11 -6"1130" TRACK BRACKETS FASTENED TO I HORIZONTAL TRACK JUNCTION.
£ e WOUDdRE WetE =0 % 7/16" 1L.D. ROUND 14 GA. GALV. STEEL CENTER HINGE
2 - i s AR BCHENS S PUSH NUT FASTENED TO SECTION W/{4) EACH
i VERTICAL TRACK TO BE BRACKET 13 -071148° EEEEAR MO ENTER, FASTENER. 14x5/8" SHEET METAL SCREWS
MOUNT QR CONTINUOUS ANGLE 13 —6"[154 #14x . }
g (1-3/4"%2—1,/4"212 GA MIN.) 14'-0"[160" 14 GA. GALV. STEEL ROLLER HINGES FASTENED TO END STILES W/(4) EACH #14x5/8
Z MOUNT, ALL BRACKETS/TRACK 14 -6"[166" SHEET METAL SCREWS AND (2} 1/4" SELF TAPPING SCREWS PER EMND HINGE.
d CLIPS ARE 12 GA. GALV. STEEL. 12 —0"[172" 2" GALV. STEEL TRACK FASTEMED TO
BRACKETS/CLIPS ARE ATTACHED 15 —-6"178" 12 GA GALV STEEL TRACK BRACKETS & c
TO TRACK WITH EITHER TWO 1/4" 16 —0"[184" WITH EITHER (2) 1/4" DIA. RIVETS OR 2" Dia. 7-1,/2" LONG STEM, 10 BALL STEEL ROLLER WITH STEEL OR NYLON TIRE.
RIVETS OR ONE 1/4" BOLT AND 166" 190" (1) 1/4" ¥ 5/8" BOLT & NUT PER R
e };’:g" égg“ el LHR BRACKET (2-1/2" x 5-3/4" x 12GA)
T —D = 4 " SELF TAPPIM
18 —0"1208 PREPARATION OF JAMBS BY OTHERS, ;ErRaEc\rSE_D nggg T{ﬂT 1{;!2 ER%:ETEE:RET asoG
USED WITH "DOUBLE END STILE™ AS SHOWN IN ‘_
ZOME B-2 SHEET 1.
3" TRACK COMFIGURATION DOUBLE TRACK
DOORS 800 LBS AND OVER. B W HEADRODM QPTION
CENPER, HANG REQUAREL: EOR ————a (AVAIL. FOR BOTH 2" AND 3" TRACK)
NOTE DOUBLE TRACK DOORS OWER 8' HIGH.
HEADROOM, HI-LIFT TRACK, | “ DOUBLE HORIZONTAL
—THE- TRACK,
?glilﬁ?cw ArTu}[I}E VEE‘?EEL LIFT - - = 1" DOOR OVERLAP (EACH SIDE) —
TRACK ARE AVAILABLE STOP MOULDING BY DOOR INSTALLER (TO SUIT),
?gl&”%wmumm” 3" GALV. TAPERED STEEL TRACK AND ANGLE. TRACK ‘S?EE E:EB"%%?EQFOZREEE?{ 3). o1p sTl %Tli;nw, STEEL DOUBLE—END-STILE FAS?EPEED .
ABOVE THE DOOR OPEMING THICKNESS: 0.101%, ANGLE THICKNESS: 0.080" HORIZONTAL TRACK : WITH (1) #8 X 1,/2" WAFER SCREW.
DOES MOT AFFECT THE MIN. ANGLE DIMENSIONS 3-1/4" x 2-7/8" SUPTPORTR sw;ongnRT " .
—— IT). =y
MHHIG:LOND RATING. N VERTICAL/HORIZONTAL TRACK 14" MAXMUM sPacinG  TOTALLER (TO sum. /4" x 2-7/8" MIN. x 0.080" TAPERED <r’
= O S M L A ANGLE. SEE LAG BOLT MOUNTING AT TRACK ~ | i 14 GA. GALV. STEEL CENTER HINGE
& & NUTS FOR EACH TRACK. Lo J CONFIGURATION BELOW. 7/167 1.D. ROUND FASTENED TO SECTION W/(4) EACH
T & PUSH NUT #14x5/8" SHEET METAL SCREWS.
o Ll ADDITIONAL MOUNTING SLOTS FASTEMER.
8 Tr SPACED AT 12" CENTERS. . - 14 GA. GALV. STEEL ROLLER HINGES FASTENED TO END
a 0.101" THICK 3" GALV. STEEL TRACK FASTENED : : ! Lzt
i TO TAPERED ANGLE, TRACK ATTACHED TO STILES W/(4) EACH f14x5/8" SHEET METAL SCREW
~12" OM CENTER TAPERED ANGLE WITH OME 1/4"«5/8" BOLT & AND (2) 1/4" SELF TAPPING SCREWS PER END HINGE.
E . MUT AT EACH MOUNTING SLOT.
T k- 3" DIA. B-1/2" LONG STEM BALL BEARING STEEL ROLLER.
. O SECTION C-C MANUFACTURING PRODUCT CODE
Y 2 34" ONE. " TRACK BOLT AND NUT AT EACH L, PREPARATION OF JAMBS BY OTHERS. C—-DSIu-1D477
w8 i MR SLHL LRI, : DESIGN LOADS: +36.0 P.S.F. & —40.0 P.SF. T AT
¢ DOOR [VERTICAL TEST LOADS: +54.0 P.S.F. & —60.0 P.S.F. rh
TRACK LEMGTH Unless Stated Otherwise 8585 Duke Bowlevord WINDLDAD RATING
. HEIGHT = Gl Mosan, OH 45040 USA
=07, TOLERANCES o |y WaIOPAY 1555 515590 4500 W6 DP 36T
g.:g.. 93;., 0 = %031 |Buiding Producls Compory  Fax No. 513-770-4853
io* -6 108 ONE 5/16" x 1-5/8" LAG SCREW SPACED AT THE SAME 00 = £.015 DESCRIPTION:  1-3/4" INTELLICORE DOORS UP TO 18'2"W (SEE TABLE)
20 132" DISTANCES AS THE TRACK BOLTS (LE. 3-1/27, 107, 22", 34", 000 = £.005 1710713 |SCALE: NTS
Y ] : 5 14—07] 156" 467, ETC.). ADDITIONAL LAG SCREWS LOCATED AT 16", 28", & 0000 = +.001 DRAWN BY: SH DATE: 1/10/13 | SCALE: DWG.
DESIGN ENGINEER: .- 3-1/2 16'=07] 180" 40" FROM BOTTOM. TWO LAG SCREWS ALSO LOCATED ABOVE Degrees = +1/2 |[CHECKED BY.- SH DATE: 1/10/13 | SHEET 4 OF & |SIZE
P e TR R AT 17 -0"] 204 VERTICAL /HORIZONTAL TRACK JUNCTIOM. :
MARK WESTERFIELD; ‘P.E. =0T 398" Unless Staled Otherwise OWG. NO.. 104826 — A/B VER: TDI
FLORIDA P.E. #48495 NC P.E. #23832 TEXAS P.E. #91513 DIMENSIONS ARE N INCHES. - o :



